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SVINCOLO AUTOSTRADA MI-BS

SVINCOLO GESSATE

INTERCONNESSIONE A4
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ID026 (IN10510) - Tombino idraulico faunistico 6.00 x 2.80

(PK. 17+733.67) Particolari - scala 1:250

PARTICOLARE C

PARTICOLARE D

A

B

C

D

IN10508 - Tombino idraulico faunistico 4.00 x 2.00 m

(PK. 17+250.24) Particolari - scala 1:250

PARTICOLARE A

PARTICOLARE B

BAR-TR-02

L = 53.53 m - H = 4.00 m
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V1

V2

C1

V3

C2

V4

C3

V5

V1

3415824.11

6499168.53

V2

3415847.22

6499168.27

C1

3415839.25

6499178.36

R  10.00

Ac  78

Tan  8.09

Sv  13.60

Fr  2.22

Co  12.58

C 1

V3

3415854.01

6499198.34

C2

3415863.15

6499193.42

R  10.00

Ac  31

Tan  2.78

Sv  5.43

Fr  0.37

Co  5.36

C 2

V4

3415885.58

6499231.26

C3

3415875.44

6499235.13

R  10.00

Ac  46

Tan  4.22

Sv  7.99

Fr  0.79

Co  7.77

C 3

V5

3415885.09

6499245.79

STRADA PODERALE

SECONDARIA DI 4m;

L = 111.00 m

TP-11

TP-02-02 - C

TP-03-02

TP-03-02

TP-04-02

TP-03-01-L2

TP-03-01-L3

TP-05-L3
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n. alberi: 0

Cod = 4    TP-03-01-L2

Area = 48.8 m²

x = 3415967.9

y = 6499583.6

n. piante: 32

n. arbusti: 32

n. alberi: 0

Cod = 5    TP-03-01-L3

Area = 567.8 m²

x = 3415935.2

y = 6499401.6

n. piante: 375

n. arbusti: 375

n. alberi: 0

Cod = 6    TP-03-01-L3

Area = 78.4 m²

x = 3416048.9

y = 6499632

n. piante: 52

n. arbusti: 52

n. alberi: 0

n. arbusti: 556

n. alberi: 0

Cod = 1    TP-03-02

Area = 1429 m²

x = 3416043.7

y = 6499597

n. piante: 943

n. arbusti: 943

n. alberi: 0

Cod = 2    TP-03-02

Area = 802.5 m²

x = 3415878.2

y = 6499359.9

n. piante: 529

n. arbusti: 529

n. alberi: 0

Cod = 1    TP-02-02-B

Area = 2852 m²

x = 3416030

y = 6499511.7

n. piante: 1.140

n. arbusti: 924

n. alberi: 216

Cod = 2   TP-02-02-B

Area = 1646.5 m²

x = 3415890

y = 6499259.9

n. piante: 658

n. arbusti: 533

n. alberi: 125

Cod = 1    TP-05-L3

Area = 130.4 m²

x = 3415981

y = 6499585.6

n. piante: 86

n. arbusti: 86

n. alberi: 0

Cod = 1    TP-03-02

Area = 413.4 m²

x = 3415853.4

y = 6499087.1

n. piante: 273

n. arbusti: 273

n. alberi: 0

Cod = 2    TP-03-02

Area = 386 m²

x = 3415916.4

y = 6498947.7

n. piante: 255

n. arbusti: 255

n. alberi: 0

Cod = 3    TP-03-02

Area = 147 m²

x = 3415787.6

y = 6498871

n. piante: 97

n. arbusti: 97

n. alberi: 0

Cod = 1    TP-04-02

Area = 70.1 m²

x = 3415802

y = 6498882

n. piante: 28

n. arbusti: 28

n. alberi: 0

Cod = 1    TP-02-02-C

Area = 316 m²

x = 3415903.2

y = 6498978.6

n. piante: 126

n. arbusti: 102

n. alberi: 24

Cod = 1    TP-08

Area = 34.7 m²

x = 3415880.8

y = 6498898.4

n. piante: 6

n. arbusti: 5

n. alberi: 1

Cod = 2    TP-08

Area = 58 m²

x = 3415998.2

y = 6499343.6

n. piante: 11

n. arbusti: 9

n. alberi: 2

MERLINO

Cod = 8    TP-03-01-L2

Area = 16.5 m²

x = 3415932.7

y = 6499393.8

n. piante: 11

n. arbusti: 11

n. alberi: 0

Cod = 9    TP-03-01-L1

Area = 5 m²

x = 3415935.6

y = 6499388.1

n. piante: 3

n. arbusti: 3

n. alberi: 0

Cod = 10    TP-03-01-L2

Area = 54 m²

x = 3415926.1

y = 6499362.7

n. piante: 36

n. arbusti: 36

n. alberi: 0

Cod = 11    TP-03-01-L2

Area = 15.3 m²

x = 3415981.8

y = 6499389.7

n. piante: 10

n. arbusti: 10

n. alberi: 0

Cod = 12    TP-03-01-L1

Area = 4.9 m²

x = 3415977

y = 6499383.1

n. piante: 3

n. arbusti: 3

n. alberi: 0

Cod = 13    TP-03-L2

Area = 41.4 m²

x = 3415971.4

y = 6499358.3

n. piante: 27

n. arbusti: 27

n. alberi: 0

TP-03-01-L1

TP-03-01-L1

Cod = 7    TP-03-01-L2

Area = 32.1 m²

x = 3415824

y = 6498940.4

n. piante: 21

n. arbusti: 21

n. alberi: 0

Cod = 9    TP-03-01-L2

Area = 34.5 m²

x = 3415814.3

y = 6498900.5

n. piante: 23

n. arbusti: 23

n. alberi: 0

Cod = 8    TP-03-01-L2

Area = 34.3 m²

x = 3415870.9

y = 6498929.9

n. piante: 22

n. arbusti: 22

n. alberi: 0

Cod = 10    TP-03-01-L2

Area = 42.5 m²

x = 3415869.1

y = 6498885.8

n. piante: 28

n. arbusti: 28

n. alberi: 0

TP-03-01-L2

TP-03-01-L2

TP-03-01-L2

TP-03-01-L2

y = 6499384.5

Cod = 2    TP-08

Area = 88.9 m²

x = 3415748.5

y = 6498910.8

n. piante: 16

n. arbusti: 14

n. alberi: 2

Cod = 3    TP-08

Area = 50.7 m²

x = 3415933.7

y = 6498866.7

n. piante: 9

n. arbusti: 8

n. alberi: 1

Cod = 1    TP-08

Area = 99.1 m²

x = 3415895.6

n. piante: 18

n. arbusti: 15

n. alberi: 3

Cod = 6    TP-11

Area = 465.2 m²

x = 3415852.3

y = 6498830.8

Cod = 3    TP-11

Area = 73.8 m²

x = 3416134.2

y = 6499646.3

Cod = 4    TP-11

Area = 528.6 m²

x = 3415968.8

y = 6499607.4

TP-02-02 - B

Cod = 5    TP-11

Area = 1972.5 m²

x = 3415991.9

y = 6499386.8

Cod = 7    TP-11

Area = 554.5 m²

x = 3415980.8

y = 6499366.8

Cod = 6    TP-11

Area = 774.5 m²

x = 3415920.4

y = 6499362.4

TP-11

TP-11

TP-11

TP-11

TP-03-02

TP-11

Cod = 3    TP-11

Area = 564.6 m²

x = 3415935.5

y = 6499186.9

Cod = 1    TP-11

Area = 659.8 m²

x = 3415884.5

y = 6499213.3

Cod = 2    TP-11

Area = 864.4 m²

x = 3415881.9

y = 6499200

Cod = 4    TP-11

Area = 610.7 m²

x = 3415897.5

y = 6499014.1

Cod = 5    TP-11

Area = 147.8 m²

x = 3415867.5

y = 6498901

TP-02-02 - B

TP-11

TP-03-02

Cod = 7    TP-11

Area = 430.3 m²

x = 3415795.2

y = 6498844.6

TP-03-01-L2

TP-03-01-L2
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